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Qfua A
Al.
1.2Q3T0
2. NAGOZ
3. NAGOZ
4.3Q3T0
5.2Q0zTO

A2.

5T

Ofpa B

B1.

a) def find_mo(self):

return (self.vathl+self.vath2)/2.0

B) studentl=Student(‘1QANNOY’,7,6)

student1=Student(‘ANAXTAZIOY’,10,9)

V)

mol=studentl.find_mo()
mo2=student2.find_mo()
if mo1>mo2:

print studentl.onoma,’peyalutepog pésog 6pocg’
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elif mo2>mo2:

print student2.onoma,’ueyoAUtepog LEcog 6pog
else:

print studentl.onoma

print student2.onoma

B2.
S=0

Foriinrange(1,10,2):

S=S+i
Print S
B3.
A 7 8 3 4
1° népaopa -2 7 8 3 4
2° népaopa -2 3 7 8 4
3° népaopa -2 3 4 7 8
4° époopa -2 3 4 7 8
ErupédeLa:

Xat{nmnamnag Mwpyog

Kot to KEvrpa AIAKPOTHMA: Metpatdg, Aladiktuako




